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511.915...... 0~4 Kg/cm2 | 8 Kg/cm2 | =4 X 4~20 mA| 8~33 Vdc |= (%R %/E-8V) /20mA KQ
511.917...... 0~6 Kg/cm2 | 12 Kg/cm2 | =& X 4~20 mA| 8~33 Vdc |= (%R %/E-8V) /20mA KQ
511.930...... 0~10 Kg/cm2 | 20 Kg/cm2 | =4 X 4~20 mA| 8~33 Vdc |= (@B %/E-8V) /20mA KQ
511.991...... 0~10 Kg/cm2 | 20 Kg/cm2 | =4 X 4~20 mA| 8~33 Vdc |= (/B %/E-8V) /20mA KQ
511.931...... 0~16 Kg/cm2 | 32 Kg/cm2 | =4 X 4~20 mA| 8~33 Vdc |= (/B %/E-8V) /20mA KQ
511.932...... 0~25 Kg/cm2 | 50 Kg/cm2 | =4 X 4~20 mA| 8~33 Vdc |= (/B %/E-8V) /20mA KQ
511.915...... 0~4 Kg/cm2 8 Kg/cm2 0~10 Vdc 11.4~33 Vdc|>10 KQ
511.917...... 0~6 Kg/cm2 | 12 Kg/cm2 0~10 Vdc  |11.4~33 Vdc|>10 KQ
511.930...... 0~10 Kg/cm2 | 20 Kg/cm2 0~10 Vdc  |11.4~33 Vdc|>10 KQ
511.931...... 0~16 Kg/cm2 | 32 Kg/cm2 0~10 Vdc  |11.4~33 Vdc|>10 KQ
511.932...... 0~25 Kg/cm2 50 Kg/cm?2 0~10 Vdc 11.4~33 Vdc|>10 KQ

7211 BAR = 100 Kpa = 1 Kg/cn’
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